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ENGLISH VERSION

Instructions : (1) As per the instruction no. 1 of page no. 1.

(2) The figures to the right side indicate full marks of
the question.
(3) Statistical tables and Graph papers are provided

on request.
1  Answer the following questions : 10
(1) The line of regression of y on x is y=16x+25 and 2
x on y is x=04y+3.5 then find correlation coefficient.
(2) State with reason the function y=24x+10 is demand 1
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(3) The trend equation with origin 2008 is y =200+ 80x 1

then find Quarterly trend equation.

(5) State the mean of Gamma distribution. 1
1 1
(6) State the value of /3(5 Ej 2

(7) State the variance of %2 distribution with n degree 1

of freedom.

2 (a) Show that correlation coefficient is independent 5
from origin and scale.

(b) From the following data find the regression coefficient 4

of x on y :
x
100 | 110 {120
Y
25 1 — —
30 - 3 —
35 - - 1
© If y,=73=753=05 then find the value of R12(23). 3
OR
2 (a) Define regression coefficient and give its properties. 5
(b) From the following data find the value of ¥y when 3
x=20.

¥ =25 7=40,0,=24,0,=5 and 7, =08.

(© Two equation of the regression line are 8x-10y+66=0 4

and 40x-18y =214 then find the mean of x and y

and also find the correlation coefficient between them.
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3 (@) Define partial and multiple correlation.

(b) In usual notation prove that 4
2 L2,
R2. = Yi2 T Vi3 — <Y12%13Y23
1(23) 2
=753
(© Prove that b3 Xby31 X b315 =7Y123 X Y231 X V312 4
OR
3 (@) Prove that 8

o1 _ Y12 —="13723
D bpz=—Xx———
M o) 1-735

@ ofy=0f (1—7122)

Y132 and Yp37.

4 (a) What is time series ? Explain its components.

(b) From the following data find seasonal and irregular

variations :
Quarter
O O | G5
Year
2001 20 | 18 | 30
2002 25120 |27
2003 27 |30 | 32
OR
4 (a) Explain moving average method for finding trend 4
values.
(b) Fit the parabolic curve and estimate profit for the 8
year 2008 :

Year | 2002 | 2003 | 2004 | 2005 | 2006
Profit | 10 12 18 13 17
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5 (@) Obtain the mean of Gamma distribution with 4
parameter »n.

1
(b) Prove that Jr =’; 4

(©) Derive probability distribution for senedecore's 4
I~ statistics.

OR
5 (@) Show that the mean of Beta first kind distribution 4
‘ m
1s .
m+n

(b) Show that the sum of two independent Gamma variate 4
is also Gamma variate.

(©0 Define Hypergeometric probability distribution and 4
obtain its mean.

AR

6 (@) In usual notation prove that n=m 5

(b) The demand function is ¥ =30-2P and the 7
2
expenditure to produce y units is %+4x+30 of a
monopolist. How many units should be produced to
get maximum profit ? Also obtain maximum profit.
OR
6 (a) Explain elasticity of demand and interpret it. 5

(b) When the price of mango is Rs. 22 per kg. then its 4
demand is 10000 k.g. and when its price becomes
Rs. 30 per kg. then its demand becomes 8000 kg.

If the demand function is p=./g—pxy then find

constant ¢ and 5.

(©0 The demand function of a commodity is X :16—\/;
then obtain the elasticity of demand at p=36.
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